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EW Lk MAFHFC EW +#a&2 Haz(R0)
B# | DL | & Yk MWEE E& 3 R% R A~ COP Datum
1
i t¥z2% | NS | EW | 2x%3223% | NS | EW | #1 | #6 | #1] #6 | #1 | #6 || Mean | Ns EW
1 N |None| 3NE4 430 3NE3 400 30 1 EW240 -5 4
2 E NS 1NE-3 150 1NE-4 200 50 2 NS70 2 -4
3 S | EW 3HN-1 50 3SwW3 140 20 3 EW60 2
4 W | Both 3NE5 660 3NE5 660 EW660
5 N NS 4HW4 420 4HW4 420 EW240 -5 5
6 E EW 2DS2 90 2DS2 90 NS60 1 -1
7 S [Both 5SS5 650 4SS5 650 NS650
8 W |None 3NS3 400 3NS4 430 30 1 NS350 2 -2
9 N | EW 6CXN-1 100 4HW6 680 580 11 EW440 8 6
10 E |Both 5HXE-1 200 4SS5 650 450 10 NS570 -9 -2
@3t MP| 14 | 14 6 | 8
e 2
2% 1 b A 6 AR

* B IMP 14 14

&3 INP 14 14

B VP 10.00 10.00
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B# | DL | & Yk MWEE E& 3 R% R A~ COP Datum
1
R t¥z2% | NS | EW | 2x%3223% | NS | EW | #2 | #8 |#2] #8|#2[#8 || Mean | Ns EW
1 N |None| 3NE-1 50 3NE4 430 480 10 EW240 7 5
2 E NS 1NE-4 200 1NE1 90 290 7 NS70 4 4
3 S | EW 4HS-2 100 4SXW-1 200 300 7 EW60 -1 -6
4 W | Both 3NE5 660 3NE5 660 EW660
5 N NS 4HW-1 50 4HW5 450 500 11 EW240 7 5
6 E EW 3NS-1 50 1NN1 90 140 4 NS60 -3 -1
7 S [Both 4SS6 680 4SS4 620 60 2 NS650 1 1
8 W |None 3NS4 430 3NS3 400 30 1 NS350 2 -2
9 N | EW 4SXN-2 300 5HE5 650 350 8 EW440 4 5
10 E |Both 4SS4 620 4SS4 620 NS570 2 -2
@3t IMP| 39 | 11 23 | 9
. 2 23
B3 2 TW Mixed 8 Z 13
* B IMP 39 11
&3+ NP 39 11 ,
2 HVP 17.51 2.49
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NS #3# meE(R0) 3 T bl 3 7 NS w % HEP (PO
EW s=j# 8 (PC) apie EW 55 Mz é(R0)
B# | DL | & Yk MWEE E& 3 R% R A~ COP Datum
1
bl H22% | NS | EW | ¢%=223% | NS | EW | #3 | #7 |#3 [ #7 | #3|#7 || Mean | Ns EW
1 N |None 3NE4 430 3NE-1 50 480 10 EW240 -5 -7
2 E NS 1NE-2 100 1NE-1 50 50 2 NS70 1 1
3 S | EW 4SW4 620 3SW3 140 480 10 EWG60 -11 2
4 W | Both 3NE5 660 3NE5 660 EW660
5 N NS 4HW4 420 4HW-1 50 470 10 EW240 -5 -7
6 E EW 2DS-1 50 3HN3 140 190 5 NS60 -3 -2
7 S |Both 5SS5 650 4SS5 650 NS650
8 W |None 3NS-1 50 3NS4 430 480 10 NS350 -9 -2
9 N EW 4HW5 650 4HW5 650 EW440 -5 5
10 E |Both 4SS5 650 4SS5 650 NS570 2 -2
@3 IMP| 2 |45 35 | 12
H* 3 B A 7 TW Open
* B IMP 2 45
&3P 2 45 »
B VP 0.45 19.55
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NS mE= HE2(R0) 4 T bl 4 9 NS &' F548(FO0
EW #&=z# FREWFC) a e EW m= % mEE(R0)
B# | DL | & 2R WEE ES A%ERE A COP Datum
1
Kl z9zmx | NS [ EW | 25z2% | NS | EW | #4 | #9 | #4 | #9 | #a |#9 || Mean | Ns | EW
1 | N |None] 3NE-1 50 3NE3 400 | 450 10 EW240 | 7 4
2 | E| NS 1NE-2 100 1SE1 80 | 180 5 NS70 1 4
3| s |Ew| 4swA 100 2DE-2 200 100 3 EW60 | 4 6
4 | W |Both| 3NE5 660 3NE5 660 EW660
5| N| NS 4HW-1 50 4HE4 420 | 470 10 EW240 | 7 5
6 | E|EW 2DS2 920 1NN1 920 NS60 1 A
7 | s |Both| 4sss 650 4SS5 650 NS650
8 | W |None|  3Ns3 400 3NS3 400 NS350 | 2 -2
9 | N|EW 4HE4 620 5HE-1 100 720 12 EW440 | -5 A1
10 | E |Both| 4ss4 620 4ss4 620 NS570 | 2 -2
w3 INMP[25 |15 19 | -9
B 4 Infinity 9 B i
* B IMP 25 15
&3+ NP 25 15 0
oy 13.43 6.57
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e 5 |Table 5| 10 ;,— .
EW G19) a e (F0)
B# | DL | & #% ol 4 L ik REAA | COP Datum
1
i EHE S NS EW £z % NS EW #5 | #10 | #5 |#10| #5 |#10 Mean NS EW
1 N |None Averagg Averagg EW240
2 E | NS A Averagg¢ A Averagg¢ NS70
3 S | EW A Averagg A Averagg EW60
4 | W |Both A Averagg¢ A Averagg¢ EW660
5 N | NS A Averagg A Averagg EW240
6 E | EW A Averagg¢ A Averagg¢ NS60
7 S |Both A Averagg A Averagg NS650
8 | W [None A Averagg¢ A Averagg¢ NS350
9 N | EW A Averagg A Averagg EW440
10 | E |Both A Averagg¢ A Averagg¢ NS570
B3 NP
B 5 42 10 %3
* B IMP
& - INP
# HVP 10.00 10.00
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NS mi# mza(®C) 6 T bl 1 1 NS g% wm&(R0)
EW A% Haa(m0) apile EW k% SAFFC
B# | DL | & #% MEE M E ik REAA | COP Datum
1
¥l z9zmx [ NS | EW | 25z2% | NS | EW | #6 | #1 | #6 | #1 | #6 | # || Mean | Ns EW
1| N |None| 3NE3 400 3NE4 430 | 30 1 EW240 | -4 5
2 E | NS 1NE-4 200 1NE-3 150 50 2 NS70 4 -2
3|s|ew| 3sws 140 3HN-1 50 90 3 EW60 | -2
4 | W |Both 3NE5 660 3NE5 660 EW660
5| N|Ns| aHw4 420 4HW4 420 EW240 | -5 5
6 E | EW 2DS2 90 2DS2 90 NS60 1 -1
7| s [Both| 4ss5 | 650 5585 | 650 NS650
8 | W |[None 3NS4 430 3NS3 400 30 1 NS350 2 -2
9 | N [EW| 4HWe 680 | 6CXN-1 100 580 1 EW440 | -6 8
10 | E |Both 4SS5 650 5HXE-1 200 450 10 NS570 2 9
@3t IMP| 14 |14 8 | 6
A R W<
w3 6 i ja 1 i<
* B IMP 14 14
&3 INP 14 14
B SVP 10.00 10.00
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NS e S#HE(PC0) 8 T bl 2 2 NS #sx #E=2(R0)
EW f£% $2&(R0) apie EW ¥ 2% me5(F0)
B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
Kl z9zmx [ NS | EW | 25z2s | NS | EW | #8 | #2 | #8 | #2 | #8|#2 || Mean | Ns EW
1 N |None| 3NE4 430 3NE-1 50 480 10 EW240 -5 -7
2 E NS 1NE1 90 1NE-4 200 290 7 NS70 -4 -4
3 S | EW 4SXW-1 200 4HS-2 100 300 7 EW60 6 1
4 W | Both 3NE5 660 3NE5 660 EW660
5 N NS 4HW5 450 4HW-1 50 500 11 EW240 -5 -7
6 E EW 1NN1 90 3NS-1 50 140 4 NS60 1 3
7 S [Both 4SS4 620 4SS6 680 60 2 NS650 -1 -1
8 W |None 3NS3 400 3NS4 430 30 1 NS350 2 -2
9 N | EW 5HE5 650 4SXN-2 300 350 8 EW440 -5 -4
10 E |Both 4SS4 620 4SS4 620 NS570 2 -2
@3- IMP| 11 |39 9 | -23
2 23 o
B 8 cqed 2 TW Mixed
* B IMP 11 39
£ 3+ INP 11 39 8
- $-VP 2.49 17.51
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NS smpm smEr(F0) 7 T bl 3 3 NS #4414 m2E(R0)
EW =i mze(R0) d e EW =ieg ##48 (FC)
B# | DL | £ % MFE ARE ES A%ERE A COP Datum
1
R R, NS | EW | £xz 23 NS | EW | #7 | #3 | #7 | #3 | #7 | #3 Mean NS EW
1 N [None 3NE-1 50 3NE4 430 480 10 EW240 7 5
2 E | NS 1NE-1 50 1NE-2 100 50 2 NS70 -1 -1
3 S | EW 3SW3 140 4SW4 620 480 10 EW60 -2 1
4 | W (Both 3NES5 660 3NES5 660 EWG660
5 N | NS 4HW-1 50 4HW4 420 470 10 EW240 7 5
6 E | EW 3HN3 140 2DS-1 50 190 5 NS60 2 3
7 S |[Both 4SS5 650 58S5 650 NS650
8 W |None 3NS4 430 3NS-1 50 480 10 NS350 2 9
9 N | EW 4HW5 650 4HW5 650 EW440 -5 5
10 | E |Both 4SS5 650 4SS5 650 NS570 2 -2
23 IMP|45 | 2 12 35
2 S 7 TW Open 3 ¥ AE
* @ IMP 45 2
&3+ IMP 45 2 3
2 3VP 19.55 0.45
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NS #'i #55(FC0) 9 T bl 4 4 NS m#E= HEz(R0O)
EW H= & mES(R0) apie EW ##73# SIRE(F0)
B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
Kl z9zmx [ NS | EW | 25z2% | NS | EW | #9 | #4 | #9 | #4 |#9 | #4 || Mean | Ns EW
1 N |None| 3NE3 400 3NE-1 50 450 10 EW240 -4 -7
2 E NS 1SE1 80 1NE-2 100 180 5 NS70 -4 -1
3 S | EW 2DE-2 200 4SW-1 100 100 3 EW60 6 -4
4 W | Both 3NE5 660 3NE5 660 EW660
5 N NS 4HE4 420 4HW-1 50 470 10 EW240 -5 -7
6 E EW 1NN1 90 2DS2 90 NS60 1 -1
7 S [Both 4SS5 650 4SS5 650 NS650
8 W |None 3NS3 400 3NS3 400 NS350 2 -2
9 N | EW 5HE-1 100 4HE4 620 720 12 EW440 1 5
10 E |Both 4SS4 620 4SS4 620 NS570 2 -2
@3 IMP| 15 |25 9 | -19
S 9 B i 4 Infinity
* B IMP 15 25
£+ P 15 25 0
- $-VP 6.57 13.43
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NS (FO NS (R0)
2w oo 10 [Table 5| 5 o0
B# | DL | £ % MEE M E ik REAA | COP Datum
P 2%s8s [ Ns [ EW | 2nagx [ Ns | EW | #10 | #5 |#10] #5 |#10[ #5 || Mean | NS | EW
1 | N |None EW240
2 | E|Ns NS70
3|s|EW EW60
4 | W |Both EW660
5| N| NS EW240
6 | E|EW NS60
7 | S [Both NS650
8 | W [None NS350
9 | N |EW EW440
10 | E |Both NS570
B3 NP
. 10 %% 5 ENEETY
* Bl IMP
&3 IMP
2 HVP 10.00 10.00
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